Geometry - Vectors

Y
4a +3b

2a+b

OX=2a+b
OY =4a + 3b

(a) Express the vector XY interms of aand b
Give your answer in its simplest form. (2)

Z

2a+b

XYZ is a straight line.
XY:YZ=2:3

(b) Express the vector OZ in terms of a and b
Give your answer in its simplest form.
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(a) Express the vector X7 in terms of a and b
Give your answer in its simplest form. (2)
2a+b
XYZ is a straight line.
XY:YZ=2:3
(b) Express the vector OZ in terms of a and b
Give your answer in its simplest form.
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4. 4 +3§+-§(25+z§)
= 44 +3b +3a +3b
= Ja+ (b
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